1095 & B 4 & 5l #EY 5 A4 %

G

\d

47 2

e



) E, {:-J j:?l? XM Q

o ’fgﬁ% 10 11 11 12 12 13 12
Fi5 - =EET
55 S A4 E%ﬁ 27 25 25 26 26 26 26




95 C 1)
TIRE Y 3
4

fciﬂs - T &
A i
4 J?agéﬁ ¥ F] i
FORR 0 s
ﬁ{ﬁ%ﬁiykg |
B A hinfivtiil
Iy bEFF

St Rt 1
HGrr - #H
- K ir)




#sC- T & ¢ 12 B (1)

EHla=(-12)x(-23)x(-34)x (-45) -
b =(—123)x(=234)x(=345) » H|Er %]
RO A 7 (109 &%)
(A) a~DEHERHIEHE (B) a~ b AR
(C) a BIE# - b By
(D) a &% > b FyIER

ST (-12) +(=18) +(—6) — (=3)x 2 Z{H &
fa] (95 ZLH]—)
(A) —15 (B) =3 (C) 11 (D) 16



EmC- 2E § 3D (2)

a=—{EFEES > HpfE EREE 12
4-~7~14~28 - Hl] a B 210 BV AN AL
Fyfa] ? (90 ELH—)
(A) 4 (B) 7 (C) 14 (D) 28

T+ — - - A T - ?I_3}‘:S
E—E—ﬁﬁiﬁﬁﬂ{ 1y

3x—y=38
Wisx=a > y=>b > Hla+ Db Z{H 5]

(A) 24 (B) 0 (C) -4 (D) -8
(107 &)



wimC- T & € cii P (3)

515 6x(3—2x) AVE&E S » B R AI0FE—{[E =
FFAE ? (106 &%)
(A) —12x" +18x (B) —12x" +3

(C) 16x (D) 6x

SR IS —(E By R
B8 - BT 27 2 (107 %)
(A) ®  (© (D

=~ 69 mr ¥




/

= ~Ae® Y DA

_---

HRA++ > BIE
s almcee il 265 2 23 24 25 25 25 24
EEEHAIFEE]

%%&A%%#%
TH . EHiEE 24 21 22 24 23 23 23
EK%E’J@%{

%%&A’EQE%
FH . =1ERE 22 18 20 21 20 21 20
EZ#J‘EI’J#E%&




P
v ‘ZlJ Ly/]/’?\"— a A
DA Y 35S

A= SR A

/ , B s O

i M\ﬁiﬁlaﬁl R B € 5 kiR

i B~ BiGEEP RF N

9 R
e A RE a3

BEHF &R @7 i

7 A
ijﬁfl“i

A % &
1" l‘:'r)\"" = - -:3 %
VAR 4 » 2R
SQEEDy I B iF )3'741“*
>~ 3

“3\—&
‘}\'
’i%l
‘%
);%
%



% DIAGRERLE ()

AR BSEE  —27.6—
BER27.6 NS

EARAER - 1 |
BEE 3.8 ALY

PUEIE ST » oA @
EATE - & - D1

H o SR EATERS

B DTG 2 T —
(A) 552 (B) 566.44

(C) 656.88 (D) 704 (97 L H1—)

Al MY UHME - (T w7
(A) 25x13*-15° (B) 16x17*-18°
(C) 9x21"-13° (D) 4x31*-12°
(104 &%)



f‘JAmeﬁ gL ﬁ*(ﬂﬂl )

mhﬁrﬁﬂﬁﬁ A .
ABCD 1 » =5 /_%
» AB=CD =17 »

BC=13 » HCD >
hFELE L AC BC A P B » B PD - 3K

VUiEHZ ABPD 1 E = Rii] 2 (98 Z501—)
(A) 24 (B) 25 (C) 26 (D) 27

WalE > &H ABCDHY 4 D
» EBL{EBC | » H AE
by /BAC - = BE=4 »
AC =15 » HI|/A\ AEC Hif& B E C

Fyfa] 2 (98 AL H]—)
(A) 15 (B) 30 (C) 45 (D) 60




5 IAGRE AR E (B 1)

A J IT_EIEfMEMEI’?%E I ¥
7 B .
BoRTEI R 1 ([

&~ 2 ‘”Eﬁ 1 ‘”Edl": i

SFE 6 R - #rEk
—{EREVFESA > BIIHE
BRI R ?
(A) 2x+1 » x+b

(B) 2x+b » x+1 (C)x+2b

(D) x+1 > 2x+2b

]

» 2x+1
(90 FLH[—)

mbﬂ HARBRELC \
Rl = fEAERVER - HA 4
AR BE B ANSIIE R
i EH TR -
B KRR ffifséj_ﬁ?% 1
NHERAH - $E
H 178 -
CH:BER1ATIIE
FHE o HHE 128 -
fe3E 36 BalkA b - =i —BRARM - {#
SH NAVAESRAES EEAIEN T 0 a2
TENGEH—EXRERF - SEREED
eI — kAR 2 (91 ZH—)
(A) 4% (B) BAEL (C) CHY
(D) T2 AHEN > SelfF—ERE
Jit

r'jj-ﬁ::u 3




¥ P AGTEILE (35 T h & Ri2)

Y1 N8 > NABC BEHE=1)F » AB=

AC =13 » BC=10 -

(1) 1 AB [ AC FafE#E 7 » {H15 4B
Bl AC By o HIFRFBYR AD -

(2) # CD A AC FAFE#B % » ([F1ECD
O AC | HFRFE4 CE -

HINAEC BYHEIFE Fyfr] 2 (90 FHI—)

\- o
= = b

@A) 15 B) 2 (© 20 (D) 6;



,\E]
—

F P AR fnE









